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10 M SXNANEEHE2IHE=S 4,646,364 3,966,948 679,416
OEsuAA oAH X
4,562,720,000& » 14 4,562,720
= 2,281,360
< 1,140,680
Al 1,140,680
OAZAZSH DAL 1 HH K&
83,644,000& 14 83,644
= 41,822
< 20,911
Al 20,911
(NESUHIAYRML K& 1,866,486 1,400,645 465,841
= 933,243
< 466,621
Al 466,622
301 LPEXSZ 903,380 768,472 134,908
= 451,690
< 225,845
Al 225,845
01 Al EE E 563 903,380 768,472 134,908
S WAL X2 807,984,000& * 14 807,984
= 403,992
= 201,996
Al 201,996
OSEL8UMN SE224Y X
95,396,000& = 14 95,396
= 47,698
< 23,849
Al 23,849
307 21201 A 963, 106 632,173 330,933
= 481,553
< 240,776
Al 240,777
10 M2 SXNANEHEIS2IHEX 963, 106 632,173 330,933
OBZXWA N (AEES MEWAL ZF)
928,810,000 * 14 928,810
= 464,405
< 232,202
Al 232,203
O A XI& 34,296,000 * 14 34,296
= 17,148
= 8,574
Al 8,574
=)HE0lE s#EMA 15,300 55,510 A40,210
= 7,650
< 2,295
Al 5,355
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402 BI2FX=01 M 15,300 55,510 240,210
= 7,650
< 2,295
Al 5,355
02 QI EAILEZ (01X S) 15,300 55,510 A 40,210
O0eold &3adHd 15,300,000 * 14 15,300
= 7,650
= 2,295
Al 5,355
(F)oelold 2L X 72,708 73,636 A 928
= 36,354
< 18,178
Al 18,176
307 Q1201 & 72,708 73,636 928
= 36.354
< 18,178
Al 18,176
10 M SXNANEHE2ZHEX 72,708 73,636 A 928
OWMw-4l X& 30,446,000& * 14 30,446
= 15,223
< 7,612
Al 7,611
oxgadgdl X 37,260,000 * 14! 37,260
= 18,630
< 9,315
Al 9,315
OsHE2TME S0l E R
5,002,000& * 14 5,002
= 2,501
< 1,251
Al 1,250
(m)2380elod XA 380,000 468,000 A 88,000
= 190,000
= 95,000
Al 95,000
307 2I2t0l A 380,000 468,000 A 88,000
= 190,000
< 95,000
Al 95,000
10 ALSISEXAIEEE2GHEX 380,000 468,000 A 88,000
OZ238g0eold XN 380,000,000& * 14 380,000
= 190,000
< 95,000
Al 95,000
(2)222UHYS 29 3,004 3, 150 £ 146
= 1,502
< 451
Al 1,051
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301 et A= 3,004 3,150 AN 146
= 1,502
& 451
Al 1,051
09 SHAIAHI X & 2 3,004 3,150 AN 146
OB22LIHEH 29 3,004,000 = 14 3,004
= 1,502
= 451
Al 1,051
(2)0l0ls=X« 1,587,841 1,413,757 174,084
= 1,111,489
= 142,906
Al 333,446
307 QI2t0| & 1,587,841 1,413,757 174,084
= 1,111,489
& 142,906
Al 333,446
05 QIZtRES 1,587,841 1,413,757 174,084
Oootols=sX& 1,587,841,000& = 14! 1,587,841
2 1,111,489
= 142,906
Al 333,446
(2OHXY0l=sHEH 29H XA 763,958 738,848 25,110
= 381,979
= 114,594
Al 267,385
307 212t0| & 763,958 738,848 25,110
= 381,979
o= 114,594
Al 267,385
10 M SXANEEHESIGHEX 763,958 738,848 25,110
OXY0otsHdYH 294 N
750,000,000& = 14! 750,000
= 375,000
= 112,500
Al 262,500
OXY0tSHEH Z2IIFFI|(HE) X
10,030,000& = 14 10,030
= 5,015
& 1,505
Al 3,510
OX<E0lsHEH Sotdota e oles Xd
,928,000& * 14! 3,928
= 1,964
& 589
Al 1,375
(R)EHE XAOISHE FIHX 2 25,572 21,924 3,648
2 12,786
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= 79,560
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Al 55,692
101 Q124 H| 159,120 65,700 93,420
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Al 55,692
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ottgtNsey oHH X
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Al 55,692
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Al 1,101
101 Q124 H] 7,865 23,333 N 15,468
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Al 1,101
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Olls2sdEIaEH 7,865,000€ = 1Al 7,865
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& 13,391
Al 31,245
101 21 214| 89,273 88,444 829
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& 13,391
Al 31,245
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OO0I=S=S XA I3 XI& 89,273,000 = 14! 89,273
2 44,637
= 13,391
Al 31,245
(2O)XNGEHAEE St 22X 173,493 160,210 13,283
= 136,454
= 10,233
Al 26,806
101 e1214| 36,837 34,590 2,247
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= 5,760
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Al 1,008
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OCSEYAEE NESAL &SI
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Al 84
307 glz2tol & 15,000 15,000 0
= 12,000
< 900
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OSEYAEE 2248 XA
50,000& = 100 =« 13l 5,000
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OEZAEE delXIgd A & Xzd X
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00,0008 * 10g * 53l 10,000
=2 8,000
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Al 1,400
405 XH&H 3 S| 2,756 0 2,756
= 2,204
< 164
Al 388
01 B L SEF S| 2,756 0 2,756
OCHAEE AR T 2Y
2,756,000 * 14! 2,756
=2 2,204
< 164
Al 388
(E)BHLCAB2SY 120,000 0 120,000
< 36,000
Al 84,000
307 212+0| & 120,000 0 120,000
< 36,000
Al 84,000
05 BI2r oIt 2 120,000 0 120,000
OFHLENE 29
10,000,00021 * 1JH4 * 12 120,000
< 36,000
Al 84,000
(E)Hs2s285 4,238,992 4,680,543 £ 441,551
< 3,884,187
Al 354,805
301 Lpte ™2 3,760,920 4,137,600 376,680
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< 3,760,920
01 MEIBZE 06z 3,760,920 4,137,600 A 376,680
O5clHE 3,760,920,000& * 14 3,760,920
< 3,760,920
307 21201 A 478,072 542,943 A 64,871
< 123,267
Al 354,805
10 ALSISXAIEEER2IHEX 263,375 302,343 A 38,968
OE=s0ts ZMED1Z &l 160,000& * 3H 480
< 144
Al 336
OE=s0ts 24| 222,973,000& * 14 222,973
< 66,892
Al 156,081
Oeold xRl 300,000& * 2094 &~ 6,000
= 1,800
Al 4,200
OCU=a0eold g2l
11,713,000& * 14 11,713
= 3,514
Al 8,199
OFMOISHE0IE g4z 100,000& * 39 300
< 90
Al 210
Ooaold &Zatl 16,485,000& * 14 16,485
< 4,936
Al 11,549
O0eold et I H S 5,424,000& * 14l 5,424
< 1,627
Al 3,797
11T M3 SRASEEX 214,697 240,600 225,903
OE=sots od4dunsd XA
13,246,000 = 14 13,246
< 3,974
Al 9,272
oogoldgoteg 24 XA
201,451,000& » 14 201,451
< 40,290
Al 161,161
(Z)oI3~5N R 2 REEsE2 X2 515,213 0 515,213
= 103,043
Al 412,170
301 LEHF 515,213 0 515,213
< 103,043
Al 412,170
01 MEIBEE 253 515,213 0 515,213
OS5 2RRLBR2 X
515,213,000& » 14 515,213
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[ 147,575
Al 344,341
301 et A= 491,916 482,976 8,940
< 147,575
Al 344,341
01 AR E & A 462 491,916 482,976 8,940
OBEsNAa =¢ 489,516,000 = 14l 489,516
& 146,855
Al 342,661
OBt BEEREY SELLA
2,400,000€ = 1Al 2,400
= 720
Al 1,680
(Z)orol#H=E2E=2201 2¥H XA 232,029 495,151 A 263,122
= 69,609
Al 162,420
307 gizto| A 232,029 495,151 A 263,122
& 69,609
Al 162,420
0O AMISANANEHESIHEX 232,029 495,151 A 263,122
O0lo|E =220 21A4Hl 232,029,000 * 14! 232,029
& 69,609
Al 162,420
(Z)oolssegsa2 269, 168 591,560 N 322,392
= 134,584
Al 134,584
307 2I2t0| & 269, 168 591,560 A 322,392
= 134,584
Al 134,584
11 A EXAIEE X 269, 168 0 269, 168
ool EERRRLHY
269,168,000& = 1A 269, 168
= 134,584
Al 134,584
(C)YOIESLHEELEOI0 S 20X 8,377 0 8,377
o=} 2,513
Al 5,864
307 212+0| ® 8,377 0 8,377
= 2,513
Al 5,864
11 A EXAIEEX 8,377 0 8,377
OYoIEg MsSHEEo0I=20] N
8,377,000 = 1A 8,377
= 2,513
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Al 55,440
307 gl2tol & 79,200 79,200 0
< 23,760
Al 55,440
11 ALS S RAEE = 79,200 79,200 0
OXNSOISHE ZeolAb 92t X
7,200,000 » 11004 79,200
< 23,760
Al 55,440
()X SOotsSHEH S AR = 38,640 38,640 0
< 11,592
Al 27,048
301 getEd 3 38,640 38,640 0
< 11,592
Al 27,048
01 A3l EE H 56l = 38,640 38,640 0
OXHOISHMEIBAR =L X &
1,680,000& = 23H 38,640
< 11,592
Al 27,048
(E)XNGotsdHStZZ2 I3 XA 4,700 10,000 25,300
< 1,410
Al 3,290
307 21201 A 4,700 10,000 25,300
< 1,410
Al 3,290
11T AL SXAEE = 4,700 10,000 25,300
OXdotsdH Estz20d XA
2,350,000& * 200 £ 4,700
= 1,410
Al 3,290
(2)ANEotsAHd=H 6,600 6,600 0
< 1,980
Al 4,620
307 21201 A 6,600 6,600 0
< 1,980
Al 4,620
11T AL SXAIEE = 6,600 6,600 0
OXN<gotsHH Weted XA
600,000& = 11004 6,600
< 1,980
Al 4,620
(E)XNGUOIEREH2I B2 A 17,843 17,303 540
< 5,353
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Al 12,490
307 glz2tol & 17,843 17,303 540
< 5,353
Al 12,490
10 ALSISXAIEEE 22X 17,843 17,303 540
OXgotsE2sd2I22Z X
17,843,000& * 1JH 2 17,843
< 5,353
Al 12,490
(D)HLHENSHERY 52,360 61,040 A 8,680
S 9,948
Al 42,412
301 LEMZ 52,360 61,040 A 8,680
= 9,948
Al 42,412
01 MEI2EZE 46z 52,360 61,040 A 8,680
Olg=eads N 28,800,000 * 14! 28,800
= 2,880
Al 25,920
OFALAHEO=s XA 3,560,000& = 14 3,560
< 1,068
Al 2,492
ONEIHPSELOIE VHHHS X
5,000,000&  49H 20,000
= 6,000
Al 14,000
(Z)ZAots=2 A X2 1,431,460 864,949 566,511
< 731,173
Al 700,287
301 LEd = 1,431,460 864,949 566,511
< 731,173
Al 700,287
01 MI2ZE 6= 1,431,460 864,949 566,511
Oglls EEF5Y =4 646,000,000& = 14 646,000
< 646,000
Oogsts =4 306,000,000& = 14 306,000
< 61,200
Al 244,800
OXdotsdH & 24 XA
479,460,000& * 14 479,460
< 23,973
Al 455,487
(Z)otS=sH2I XL 125,280 100,800 24,480
< 37,584
Al 87,696
101 @124l 79,200 64,800 14,400
< 23,760
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26,400,000& » 3H 79,200
< 23,760
Al 55,440
201 LBt2d| 30,000 30,000 0
< 9,000
Al 21,000
02 2322l 18,000 12,000 6,000
Ol0t===H &cl243t8l 6,000,000& » 342 18,000
= 5,400
Al 12,600
03 A2 S HI 12,000 18,000 A 6,000
OltsS=sH 3 T2l
4,000,000& * 304 12,000
< 3,600
Al 8,400
301 LEAF 16,080 6,000 10,080
= 4,824
Al 11,256
01 MI28E +06l= 10,080 0 10,080
Olt==sSH BAA =&
140,000& » 69 = 12 10,080
< 3,024
Al 7,056
09 SAAHIX A S 6,000 6,000 0
OllS2EEH 28 T2 Y FH0X AAF Y 2H
A M S 2,000,000& * 3002 6,000
< 1,800
Al 4,200
Fad 84 24 BES(MIsA/L2 - FAH) 1,492,873 2,885,972 A 1,393,099
= 37,710
J| 373,413
< 102,645
Al 979,105
Fad w4 1,492,873 2,885,972 A 1,393,099
= 37,710
J| 373,413
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200,000& = 53 = 104 1,000
—PC=cl 100,000& = 16CH » 20/100 320
— JIEt==2lHl 50,000& = 12& 600
OJIE AFR2t2lH] 5,000& = 16H » 123 960
202 04l 66,240 66,240 0
1 20101 b 66,240 66,240 0
OOtsdAEN AR 0l 66,240

_40_




AR YRk~
HH: HH2IHH(OtsSEAE D) (IIEHIIE
el JI=23Hl

SA-HB .Y (BH) - MRAY - B 0 4t o4 il
— 2L o4 8] 20,000& * 16Y = 122 * 128 46,080
— 2204 Hl 90,000& » 16Y = 14 20,160
203 & R =&H| 4,200 4,200
04 2SI L RF=AH| 4,200 4,200
ORANESEYERFAH| 350,000&  12& 4,200
204 & 2 4= A H| 1,200 1,200
01 MM R-HAY| 1,200 1,200
SELEERS

JH(OtsE#AE L E
1

)
100,000& » 1H = 128 1,200




